
https://www.pass4itsure.com/hp2-n36.html
2024 Latest pass4itsure HP2-N36 PDF and VCE dumps Download

 

 

 

HP2-N36Q&As

HP Vertica Solutions [2012]

Pass HP HP2-N36 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/hp2-n36.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

Latest HP2-N36 Dumps | HP2-N36 Practice Test | HP2-N36 Exam Questions                                1 / 3

https://www.pass4itsure.com/hp2-n36.html
https://www.pass4itsure.com/hp2-n36.html
https://www.pass4itsure.com/hp2-n36.html


https://www.pass4itsure.com/hp2-n36.html
2024 Latest pass4itsure HP2-N36 PDF and VCE dumps Download

QUESTION 1

What are the advantages of a merge join versus a hash join? (Select two.) 

A. Sometimes a merge join runs faster than a hash join. 

B. A merge join uses memory more efficiently. 

C. A merge join requires no optimization. 

D. A merge join can spill to disk if the inner table is too large. 

E. A merge join joins the data into a new projection. 

Correct Answer: BC 

Reference:https://my.vertica.com/docs/6.1.x/HTML/index.htm#20001.htm 

 

QUESTION 2

If your CEO runs a query each day, how can you be assured necessary resources will be available when the query is
run? (Select two.) 

A. Create a resource pool with dedicated resources for the CEO. 

B. Move all other users out of the general pool, leaving the CEO as the only user in the general pool. 

C. Reserve one core for use by the CEO user only. 

D. Assign the CEO user to the general resource pool with a high MEMORYCAP. 

E. Profile the query to determine estimated resource usage. 

Correct Answer: AE 

 

QUESTION 3

What are the benefits of ordering data in projection design? (Select two.) 

A. It enables optimum encoding. 

B. It enables partitioning of data. 

C. It enables efficient sharing of data between similarly-ordered projections. 

D. It enables efficient application of query predicates. 

E. It enables segmentation of data. 

Correct Answer: DE 
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QUESTION 4

During Vertica installation, how do you install onto multiple nodes of a cluster? 

A. You must install the application individually on each node. 

B. Run the installation script from the Console machine once per node. 

C. Pass the IP address or node names as part of the -s argument, and it will install the application on each node. 

D. Pass the IP addresses or node names to spread, and it will install the application on each node. 

Correct Answer: C 

Reference:https://my.vertica.com/wbt/installing_vertica/index.htm(start the video and go the topic that says multiple
node installation) 

 

QUESTION 5

What does the acronym RLE stand for? 

A. run language encoding 

B. random length encoding 

C. random language encoding 

D. run length encoding 

Correct Answer: D 

Reference:http://www.vertica.com/2010/05/26/why-verticas-compression-is-better/(paragraph right under illustration 1) 
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